1i

FREANISIFE SBMFRRRESKANFILYS

D= g 2023FE >3)\R
1. AEEREHOEXRFR
BE& (O-—K) ESRARERE I (TGB216)
EEL (O TGB_EZRAFEIRIE I (TGB216)
MERFER J0-)ULESRZER B P 2F
MHRI—R J0-/)ULEZRXO-X BT 2
eI BE HZ BREREER 30
=Rt ] BE HZ AR TREFHR
EBEHE =X EEXS Mg
EBEHEREH | AEEL BERRORRUCHEMICLDEETHD. RERRE AR - BRNE

2. FEEHBORE
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LS (CTA)RA(EDSTV)DRE(TVZ V) IER(D3A)ZBRF(UAA)DED E U TEF(DH
WU, EAEICA)ICERBB(EDHL)TESDLS(C72D  Understand the major management
theories as your own weapons so that you can explain them to others

. BEEVAEDERHEEE U S SD  Conduct each class in a mutual Q&A.

2ERORNBEME | - BRIZ2(E £ 5D U L)DM((FH) (Cmini quizZEEI(FEWHW)EE(C > L) 9D Conduct mini-
test at each class.
- BE(FVHNWV)EEMNK ZI)BICDVWT(ELICDVWT)EEM K V)1IDER(LDBA) AR
BEBRNDZE |[(LDV)ULTLB (TTHANSRVL(ONBREY), ZF(&D)) Bring in at least 1 question on
each item at class.
BB RVNC EFFTEDATA)CHND(ONB)EFTERB(LDEBA)FT S Should ask
[E1&_LD;FEZEIESE |questions until you understand them completely enough to answer the similar questions
raised by others
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S 90~1005= BICEBNZRiEZRL. EEEZTR(OEKRL TS,
A 80~89:= BNekiEzRL. EBEREFFEKRL TS,
5 20~ T FLEEBDHOSNDHEZRL. AR RANZRDHSNDECEEBRZ
=R =% ZNRDIEHLTVS,
C 60~6951 B8 LRHOSNDRIEROKEZRL. FEBRZEL TS,
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4. FEENBOEEE

[a] FEBE BERNE
AEA(EAZ)DEB(AK LY D) | .. . - _ _ . .
i A;g(“h;)@;;Ean\ ck;; BIEA(E A2 DB (B0 & S ) TRIGRIC 2 BE T(BEX T)NTHIB(EDH
1 7“&&%(0”“)?% W) TESM? What you remembe.r the content in 1st term, and can
explain it?
Understand what you have
2H(EALR)EER(EAD )
2 ZIBF(DHN)TD PPM> Tl ? ESWVWSECESD ?
Understand Corporate strategy
PREATZV)RE(ZVNTE)E
3 D (RIIA)ERE(SWNTE)ZIE | PR BANA)DMIIL(TZWLWDD)IFREIEESH ?  Why does an inter-
fR(DM) TS Understand departmental conflict happen?
whole/partial optimization
BELSTLD)HEEE(EADP L ) " .o e .=
(%iiﬁ”(jlo)bwé‘g*% ) HEALR)EIR(BAD P ) EBE(LS L D)HEB(EADL)EFESD
4 g . RM>TLVBM?  How is corporate strategy cascaded down to
Understand divisional/product L
divisional/product one
strategy
R— —DER(Z(FA)EKE(BA
5 D )ZIBEE(DH)TD Mt (FHN L) B (U U )Z ESERUL(EARADM)TSH ?  How do
Understand Porter’s you differentiate your company from your competitors?
competitive strategy
HIR(ZF)DOBBF(TVNE W) &&
6 FE([FAW)DBE(TVWSW)ER | e< A TR SAFTDEIDRNNIEDSRBN?  What will happen to
B(DMN)TSD  Understand the cost if you produce and sell more
scale/scope economics
RE(E LD €0 )W (BUVBI(
. D)HIR(BAD» )ZIBFE(DN | ERR(FTLINWRWDU—HF—[CESPOTHED? How to beat a
L\)9 BUnderstand strategy by leader in the industry
competitive position
S2FIRY—DFERI(FDEL) | BU(EDL)EDHEN(DRW)EDCHD(IMD). ELN(DEL)EDHTHU
8 ZIBFR(OMN)TD (EOLW)BDICE DM D)ICIE?  How to beat a stronger/weaker
Understand Lanchester’s competitor
R=7> hDominant#kEg (A
9 D )T)IL—A—>+>Blue FREICHDIZHICIE  To win a competition
Ocean -« Ly RA—> v 385w
R—=TFTADDEAP, TIAY | TNBDEZBEBRDAEICENT  Utilize these concepts for your own
10 |F—>3a>. 594570 0%8 life
B9 Review 4P,
HE(BLOA)EEE(EAD )/ . . . -
G (D <) FZIFNUE (T IFNUR) BV T V) FEEFTTN(S1)DH ? Does
11 | & < )EER(BAD » <)%= ( ) ( ) ) ( . ) . ( )
a product sell well if its price is low?
BE(DMN) TS Understand
TRB(Dw SDD)/BRFE((FAELY) . . _ .
BRFEEE (FAEWELS LA) ([CMEhe20 ? What are sales
12 | BEE(Z < LA)EBE(BAD B <) £ ) ’
promotion methods?
ZIBFR(DHMLV) T D Understand
BEN(ZSZ) - FRIRADA)D | |, _ e, — — )
ZDE) - RANMA)DEZB(HLS L Ry 2nd t d
13 | EB(R<L®S) Review 2nd BEA(CDE) - FRBI( YDIEB (S 3) Review 2nd term an
whole year
term and whole year
14 %AAsAER  2nd term exam.
15 | #&HAEREEST (briefing on T)
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